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I. =g foemedia we 16x1=16
01 | wem
02 | D) et =dl
03 |B) feg
04 |D) el U™
05 | ) fasparerca =fiar
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07 | D) U™ @l
os8 |[B) 1914
09 |C)7E
10 | A) e @t
11 |B) 82%° qd I
12 | D) T gamg
13 | A) weH fary
14 | D) ufa =afed 3
15 | ¢) @:f=fa
16 | B) SR
11. TrafeRaa uvAt @1 uewh-ue are # 3w foftan | 4x1=4
17 |+ YsHehel
18 | yeres eafay grRT 3Tt ikt oh1 WgeH, YfiehT <aT o &9 H ST 1T 2 |
19 |« PR 3T ST Tehal i a1l TUTS
+ YT HHTS
: e ww

20 |- 39T fhaTehetTy

III. Answer the question two to four sentence. 6x2=12
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s« TER SIquehi ol TR0, + STl § S8t Heheld aTefl g1 ohl =T T,
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IV. Answer three to six sentences.

3x3=9
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+ I8 GHAIId B, Tgeh 3 Arferan <Elt <1 Hehelt B
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A) 3T g 3tfies gama &1 e

B) I 3Y-3WT & h1 ATk goa &
C) Tftawr Ju-ydta +1 o w1 &

D) <feur gt 31fereh e 1 &
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1x4=4
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